MARTIN®

FURNITURE
SET-UP INSTRUCTIONS FOR ITEM

IMLD4724 LIFT DESK

info@martinfurniture.com

NO: Parts List QTY | |NoO: Parts List QTY | | NO: Hardware List QTY | |No: Hardware List QTY
1 [SSsyfLeftCoumn | 1PC ... | Horizontal Frame | 1 PC A |Qmmm| Screw M5*40 2 PCS F |AA<|Cable Tie 1PC
2 % Right Column | 1 PC & | Control Panel 1PC B | Qmm | Screw M4*12 6 PCS G Gasket 2 PCS
3 | = |legBase 2PCS || 9 | & | Control Box 1PC C | €m | Hex Screw M6*12 13PCS| | H |&—| Allen Wrench 1PC
4 |G| Desk Top 1PC 10 |a—% | Motor 1PC D |6jmmm Hex Screw M6*16 8 PCS | | € | Grommet 2 PCS
5 |™~~| Drive Rod 5PCS 11 | == | Power Cord 1PC E | o= | Wood Screw ST4*16 | 5 PCS
6 | MotorRod |1PC

Caution: Please read all instructions before assembly and check the carton for any parts that may have come
loose during shipment. It is recommended to use two or more people during the assembly process.

1 Install motor (10) to column (1) by passing motor rod (6) through the gear openings. Secure the motor to the column using screws (A) with
gasket (G). Carefully place the top (4) upside down on a smooth and clean surface and position left and right columns (1) (2) to each side of
the top lining up with the screw points on the side metal frames of the top. Place the horizontal frame (7) behind the columns, secure in place
using screws (C). Use one screw (C) through the center metal bracket on the horizontal frame (7) to secure it to the top. Do not tighten until
you are sure all screws can be threaded through without straining.

3 Place the driver rod (5) between the two columns. Insert the bar through the gear opening the right column (2); make sure it is pushed all the
way in and fits snuggly into the gear opening on the column. Once both sides are properly fitted, turn the rings on each side of the driver rod
(5) to tighten. If the bar is not aligning properly, insert the bar into the gear opening and lightly twist, confirm the proper alignment with the
motor rod and tighten before continuing.

Date: 12 / 2020 www.martinfurniture.com




4 Secure the control box (9) through the predrilled holes located on the bottom of the top (4) using two screws (B). Choose the preferred side for
the control panel (8) and use the predrilled holes to secure to the edge of the desktop (4) using two screws (B).

5 Once the control box and panel are in place, connect all the electrical components. Use provided diagram to connect the power cord (11),
motor cable (10), and control panel cable (8) to the control box (9). Use provided cable tie (F) to avoid cable clutter. With assistance,
carefully flip desk to upright position, connect the power cord to test operation.

Operating Manual

Set Position Memory

Up ~ s ) ) : —
et desk to desired height using the up —~ and down ~ buttons.
Down ~ Hold and press S button until display flickers, while continuing to hold setting button
. assign one of the number buttons to current desktop position. Press number at anytime
LED Dlsplay 88.8 and desk will re-adjust to previously saved height.
Numbers 123
Setting S Lock Operation

Press and hold both S and up — button for 5 seconds. The display should now read "
LOC " and system should be locked to current height. Repeat steps to unlock system
and change desk height.

System Overheating
If display reads " HOT " system may need 18 min to cool down, before continuing
operation.

Reset

If display reads " RST ", press and hold down button ~ for a few seconds until lowest
height is reached. Power cycle handset by disconnecting and reconnecting the power
cord. LED display should now show correct desktop height.

Error Code E05

If displays shows error code " E05 " this refers to the anti-collision system. Check that
nothing is obstructing the desk from lowering. If error code persists and height cannot
be adjusted follow steps for resetting the system.

CARING FOR YOUR FURNITURE

e Use a soft, clean cloth that will not scratch the surface when dusting.

e Use of furniture polishes are not necessary. Should you choose to use polishes, test in an inconspicuous area first.

e Using solvents of any kind on your furniture may damage your furniture finish.

e Never use water to clean your furniture as it may cause damage to the finish.

e Always use coasters under beverage glasses and flowerpots.

e Liquid spills should be removed immediately. Use a soft, clean cloth, blot the spill gently. Avoid rubbing.

e Direct sunlight may damage wood finishes.

e Extreme temperature and humidity changes can cause warping, shrinking and splitting of wood furniture. It is best to keep furniture in a
climate controlled environment.

e Always use protective pads under hot dishes and plates. Heat can cause chemical changes that may create spotting within the furniture finish.

e Inthe event that your furniture is stained or otherwise damaged during use, we recommend that you call a professional to repair your furniture.

Date: 12 / 2020 www.martinfurniture.com




	Single Motor Lift Desk - AI - 1
	Single Motor Lift Desk - AI - 2

